Math 1431 — Section 17699

Homework 1 (10 points)

% Due Thurs. 1/29 in Recitation
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Instructions:
 Print out this file and complete the problems.
o [If the problem is from the text, the section number and problem number are in parentheses.
o Use ablue or black pen or a pencil (dark).
Write your solutions in the spaces provided. You must show work in order receive credit for a problem.
* Remember that your homework must be complete, neatly written and stapled.
o Submit the completed assignment to your Teaching Assistant in lab on the due date.

. Find the following limits:

A TN Cth=3 =y Bth13)B1h-3)
- 7‘“‘70 h h¥o h

¥ 0 = Jum @M. S0
=0t (0h) ko %%*8 Gth=6.

b. 11_133 t —*DN&:

A@ x> o1 X4 > A pOSTVR humber whiiels Clesed o O

X2 Xy tods o o hgGattive numben whien Clesghy
TR
T W =00 and Wi g s w0 (nbudad ) S pE

(L\V\b@\\y\dszd) ,@;X-q.
==\t +4 r+4j DN e

¢. lim (——— g

—

vy4 Ty

Qunn AS = g (ommmg()

oy > prE.
andh Qo ZEE =10 (nboundsd )
g




2
2 s D (B )
2. (Section 1.3. Problem 6) X

X0
= Y (6x)
X0

= o 6T = —-7

X=>0

LX)
2 (X))

.od
(7)( - L— i
3. .(Section 1.3, Problem 12) Q} WL ’—:’\'\“_? b J&JW\
X7 | X=|

X = g 3 0N (kAKX
ﬂxﬂm

( K=l NG

:&Qg\/; 7\&\(217(11'\(‘\\> :%L{, 12

4. (Section 1.3, Problem 16)
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7. (Section 1.3, Problem 32) C/
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8. (Section 1.3, Problem 34) oL har '?DQ:E X, X <O
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9. (Section 1.3, Problem 40)
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